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GENERAL INSTRUCTIONS :
1. gOenef gerdye 391 Issl § g S e |

Candidates are required to give their answers in their own words as far as
practicable.

2. TAYTAH QYT 'A'TS 'B'E T S gal o At T B ST A SAFEE €
) TAA (i T WEE ) — 40 ®
i) Ja B( Sie fogqe ) — 20 3k

The question paper has two Groups ‘A’ and ‘B’ and it is compulsory to answer
all the questions of both the Groups.

i) Group ‘A’ ( Physics and Chemistry) — 40 Marks

ii) Group ‘B’ ( Biology ) — 20 Marks
3. &S U % ford fuifia sie 39 9w sifed §

Marks allotted to each question are printed against it.

4. T TG o W e T fadw o e | € fad |

Write the answers of questions in the context of instructions given with the

questions.

5. $S Ul H deicus T=ad fd T T | UH U9 § oT9hl e T =9e § § had T
TEE FAT |

Internal options have been given for some questions. You are to attempt only one
option in such questions.

6. YTIA®1H 47k, IO BF 17 T 18T 31 1Y SIF' TR F YA T 137 Ul
SR G Ueh Te | el Th S H a7 § |

Question Nos. 1 to 4 of Group A and Question Nos. 17 & 18 of Group B are
‘Very short answer’ type questions. Answer these questions in one word or in
one sentence each.
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10.

11.

YUIAFSH 8TH R T BH 19T 20 ‘TG 3T - II' ThR F YA € | ST T
SR YAH 309 40T H AT |
Question Nos. 5 to 8 of Group A and Question Nos. 19 & 20 of Group B are

‘Short Answer-II' type questions. Answer each one of these questions in 30 to
40 words.

YUAF 99 147 3R YIBF 218 23TF ‘TG ITWA - ' YHR & WA § | 7 Al
FIW IS 409 50T H AT |

Question Nos. 9 to 14 of Group A and Question Nos. 21 to 23 of Group B are

‘Short Answer-I’ type questions. Answer these questions in 40 to 50 words each.
YU AF 15TH 16 IR YU B H 24 ‘e 300’ TR & T & | 37 U & SW Tk
T 70 T H A |

Question Nos. 15 & 16 of Group A and Question No. 24 of Group B are ‘Long

Answer’ type questions. Answer these questions in 70 words each.

SRl el ot oot stavaes B, 3% Weadl & 919 9% ®9 9§ gifhu |

Draw neat and clean diagrams wherever necessary.

[ TF HE TH-T8-ST-Jehl o 3id § T T g8l W IS, 7= Hal &l |

Do all the rough work on the pages given at the end of the question-cum-answer-

booklet and nowhere else.

U A ( ifeht T @E )
Group A ( Physics & Chemistry )
1. favdidt =1 SIAEe =T ? (ST Th U 1 Teh e | 2feig ) 1

1. What is the SI unit of potential difference ? ( Answer in one word or in
one sentence ) 1

2. Tom 921 gu = <1 vEmEfTe g fafaw | (3™ s e A1 T 9 | e ) 1

2. Write the chemical formula of quicklime. ( Answer in one word or in one

sentence ) 1

3. 39 XA &1 99 fafgu s arag # fdfie) wRiwA w1 G9ed wid § |
( ST TH U< I1 Tk oo H 9T ) 1

3. Name the organisation which looks after the space programme in India.

( Answer in one word or in one sentence ) 1
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T 4
Q. 4
TH 5
Q. 5
TH 6
Q. 6
T 7
Q. 7
T4 8
Q. 8
TH 9

e stenigel o1 TErEIfTS G ford | (TR Tk e A1 Tk o’ | ST ) 1

Write the chemical formula of methyl alcohol. ( Answer in one word or in

one sentence ) 1

2 #t o1 ®IR g ATl fRdt sTaqel o) i &Har 91d hifeg | ( IW 309

40 93l § ST ) 2
Find the power of a concave lens of focal length 2 m. ( Answer in 30 to
40 words ) 2
Ipoe 91 BIdT § 2 Tk U AifiTeh 1 | {fST St Scpee gefeid s g |
( IW 309 40 V=] H W ) 2
What is efflorescence ? Name one compound which shows efflorescence.
( Answer in 30 to 40 words ) 2

ik qe1 A STEl # i fafgn | (3| 309 40 el # ST ) 2

Distinguish between natural and artificial satellites. ( Answer in 30 to

40 words ) 2

fr=l < ugsll & M fafgu s enaiem & iy Afafwan T&f et §

( I 309 40 vIsgl H Sifw ) 2
Bbe))

eI 377 ol YAl B T’’’ wEd © 2 ( IW 30 ¥ 40 sl H
difse )

Write the names of two metals which do not react with oxygen. ( Answer

in 30 to 40 words ) 2
OR

Why is sulphuric acid known as the ‘King of Chemicals’ ? ( Answer in 30

to 40 words )

el W Ay TR FA-fagd I & @ @ 7 @ wifwEr fafew |

(3W 40W 509 H ST ) 3
3T

A Gereell § o4 aTel giafdd 1 Yepfd Iasy | 36 STaYA & fau =i

fafEu | ( ST 409 50wai H  <ifSw )

A - Sc. & TECH. [ P. T. O.
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Q. 9
{10
Q. 10.
T 11
Q. 11
TH 12,
Q. 12
A 13.
Q. 13.
TH 14
Q. 14
TH 15
Q. 15

Mention any two advantages and disadvantages of producing
hydroelectricity by building dams on rivers. ( Answer in 40 to 50 words )

3
OR

Mention the nature of image formed in Simple Microscope. Write the
expression for its magnification. ( Answer in 40 to 50 words )

. gmize rfufsran 1 € ? TEafae TRt fafgu ud U SUE e@rEy |

( W 409 50 vsal H ST ) 3
What is thermite reaction ? Write the chemical reaction and give one use.
( Answer in 40 to 50 words ) 3
. T o QUi STfafieh TEde ¥ 319 R §Eed B 2 THh o Wdl @l oty |
( W 409 50 Wl H <A ) 3
What do you mean by total internal reflection of light ? Write two
conditions for it. ( Answer in 40 to 50 words ) 3
fofaera Tenielal o1 1 AIcad § 7 SR ohdl ST ST § 2
( 3W 409 50 W=l H AT ) 3
What is meant by denaturated alcohol ? How is it prepared ? ( Answer in
40 to 50 words ) 3
i fondt forga gieX a1 ( 7T ST # ) Ufale 50 379 =1 df 220 dlee i HE 9
3T fopat fora &m0 wenfea erft 2 3
How much current will an electric heater draw from 220 volt mains, if
the resistance of the heater ( when hot ) is 50 ohms ? 3
. T stfererenta |l o I SIS 3x1=3
) — CHO @ CO (i) — COOH.
Give the names of the following functional groups : 3x1=3
i — CHO i Co (iii) — COOH.

@  foega smufd ® wreged iR stfavre § 0 A § 2 T wifaw |

G foega w= %1 *E T FifvT |

( W 70 W8] H ST ) 5
SOE)
TR foded ae Heaq | @ HifT | 5
( IW 70v=al # ST )
() What are shortcircuiting and overloading in an electric supply ?
Explain.
(ii) Ilustrate the action of an electric fuse.
( Answer in about 70 words ) 5
OR
Distinguish between nuclear fission and fusion. 5

( Answer in about 70 words )

A - Sc. & TECH.
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TE16.
Q. 16.
T\ 17.
Q. 17
TE 18
Q. 18
TE 19
Q. 19
TH 20
Q 20.
TE 21
Q. 21

U= & Tk 9@ 3135k o1 1M fafan | g9 g foeg fafy § foeen S
® 2 Wifka sraew ¥ Uoqfufem &1 frehdo $8 e S € 2 gt difSy |
( W 70 T=g H iR

g ) 5
Yl

THICIEE STI%h o1 YHEMS I3 faf@n | amen vg! # THREe o9k § 3R &

Trsmeor & 219 arett TEmafes stfufswansti i fafee | (s 70 9isal ® €ifST ) 5

Name an important ore of aluminium. By which process is this ore

concentrated ? How is aluminium extracted from this concentrated ore ?
Give equation. ( Answer in about 70 words ) 5

OR

Write the chemical formula of haematite. Write the chemical reactions
that take place in the blast furnace for the extraction of iron from
haematite. ( Answer in about 70 words ) 5

U B ( Sia fagm )
Group B ( Biology )

CFC o1 qUi M fafEt | ( 3T T vss o1 Tk o § ) 1

Write the full form of CFC. ( Answer in one word or in one sentence ) 1

. A SRk S AT a1t Sl Ad HLd &, i 3 H fohy AW 9

A § ? (S TH IS A1 Teh 9 B Iy ) 1

By what names are the Mendelian factors known which are the carriers

of hereditary information ? ( Answer in one word or in one sentence ) 1

. e 3R ST Y9ET H e o =R faf@w | ( 3T 309 40 Wl |

LIS 1+1=2
Write any two differences between aerobic and anaerobic respiration.
( Answer in 30 to 40 words ) 1+1=2
. A 99l P § 2 399 BN arelt Tl <1 =v1f4 <kl fafET | (ST 30 9 40 W=
T gifee ) l+g +5 =2
What is acid rain ? Write any two harmful effects of acid rain. ( Answer in
30 to 40 words ) 1+%+%=2
. TIQT 3T GTOETO § 3719 R IHEd § 2 SeelU ol THIET | ( I 409
UNCAR S 1) 15+ 15 =3
What do you understand by self-pollination and cross-pollination ?
Mlustrate with examples. ( Answer in 40 to 50 words ) 1 % +1 % =3

A - Sc. & TECH. [ P. T. O.



JAC

8

TH 22
Q. 22.
T 23
Q. 23.
TH 24
Q. 24.

. dfTeR-<hIf3TeRT 1 T Td AWifehd o ST | ( 909 <kl ATOIRAT T8I & ) 3

Draw a neat and labelled diagram of Neuron. ( Description is not
necessary ) 3
TH-OYE 1 T 7 EAh Il Td gef el | oY & 99 § 2
( 3T 40 ¥ 50 vl H ST ) 1+1+1=3

What is blood-group ? What do you understand by Universal donor and

Universal acceptor ? ( Answer in 40 to 50 words ) 1+41+1=3

. WY § 37T T GHEd § 2 999 okt fafier fafui ot Seeor afeq s=aren

SHIfST | (W 70 931 H ST ) 2+3=5
YT

TehTRI-HLCAT0 1 Ufshan foha ==l # gl § 2 e & | ( IW 70 IR H

flﬁfl'Q ) 2% + 2% =5

What do you understand by nutrition ? Explain various types of nutrition

with example. ( Answer in 70 words ) 2+3=5
OR

In how many steps does the process of Photosynthesis take place ?
Explain. ( Answer in 70 words ) 2% + 2% =5

A - Sc. & TECH.



